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The purpose of this resource is to provide you with exemplification of one of the breadth study AO1
essay questions and to help you apply the generic levels of response mark scheme. Although the
example question may not be from the option you are teaching, the marking criteria is applicable to
all AO1 breadth study essay questions.
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‘Laissez-faire policies, in the years 1865 to 1890, were economically damaging.’

Assess the validity of this view.
[25 marks]
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Commentary

The stems for the 7042 Component 1 (breadth) essay questions are variable, but all are designed
to elicit an analytical and balanced response to a question ranging across 20 years or more. In
assessing breadth essays, the following elements need to be considered:
¢ the understanding of the question
o the development of the argument, the degree of analytical comment and the degree of
balance achieved
e the knowledge displayed in the response; its range across the breadth period and how
effectively it is deployed
e the convincingness of the judgements made
e the overall depth of understanding shown, particularly in relation to developments over time
and any key concepts relevant to the period under discussion.
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Student A

This response shows a very good understanding of the question. Although the introduction is not
fully developed insofar as it does not put forward a particular viewpoint, it nevertheless outlines the
main areas affected by laissez-faire policies. These are given as the rise of corporation,
industrialisation, urbanisation - together with 'agricultural America', and these areas provide a well-
thought out thematic basis for the response.

The essay is analytical in style and an argument is developed that laissez-faire policies were
primarily economically beneficial. Nevertheless, the ways in which they might be considered
damaging, particularly in relation to the power of the corporations and the damaging effects on
agriculture, are also considered and evaluated, providing balance. Among the balancing factors is
the observation that policies affected workers adversely, although, without further explanation, this
might be considered more a social than an economic downside.

The knowledge displayed is very good and wide-ranging. All the analytical comments are backed
by relevant examples and these show a good appreciation of this breadth period. As a
consequence, the judgements made in relation to the question are well-substantiated, making this
a convincing response overall.

The essay is placed in level 5 because of the depth of understanding shown. The concept of
laissez-faire, for example is well understood and together with related Social Darwinism, is
explained at the beginning of the essay, after the introduction. There is also a good awareness of
the rise of corporation and the implications of trusts and monopolies. Although the answer's slight
limitations, as mentioned above, have led to it being placed slightly below the mid-level, it is clearly
better than Level 4 in terms of the high-level development of argument, the substantiated
judgement and overall grasp of the key features of the period.

22 marks (slightly lower level 5)
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Student B

Student B’s response also shows a good understanding of what is asked in the main body of the
answer, but the introduction is rather weak. It suggests some understanding of laissez-faire as
'minimal regulatory policy', but falls back on rather bland statements such as, 'this approach has
come under fire throughout history' and 'many argue...' rather than offering a particular view in
response to the question.

Nevertheless, the ensuing response is well balanced. The benefits of laissez-faire policies are
considered first and the rest of the answer is given to examining the policies' damaging effects,
although some of these may be considered more political and social than economic
consequences. Nevertheless, the approach is predominantly analytical.

A good knowledge of the period is demonstrated in the supporting evidence and some reasonable
judgements are advanced in the course of the answer. The conclusion, however, remains rather
ambivalent with the student struggling to provide a full judgement on the question. It is alleged that
America was a 'largely prosperous country' as a result of laissez-faire policies but that the policies
had a downside in that they lead to greater social division. Although there is an attempt to link this
with economic damage -'the socio-economic gap which is of course economically damaging', this
is a far from convincing final statement.

This answer does not have the same overall depth of understanding as demonstrated in Student
A’s, particularly in relation to economic growth. The 'robber barons' are referred to twice without
any real development of this concept, and there is certainly some mixing of economic and social
damage. It was consequently awarded a low Level 4. It is marginally better than level 3 because of
its analytical style, but it does not fully meet the Level 4 criteria for more developed understanding
with some conceptual awareness.

Student B’s response is better than a level 3 response because it analyses and balances rather
than merely links to the question in the style of a 'running commentary'. Its judgements are also
slightly stronger than will normally be found in level 3 answers. Obviously this response is
considerably better than one awarded level 2 where there would be more partial understanding
and where the writing might be largely descriptive or the analysis limited. Most level 2 responses
show some limited knowledge but it is not effectively used. Level 1 responses, on the other hand,
are limited in both knowledge and understanding and may be vague and generalist, with
inaccuracy and irrelevance.

16 marks (low level 4)
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